Unable To Calculate Interest Correctly On A Carry-Back 
The computer is unable to calculate interest correctly on carry-backs where

· A repayment or reallocation has been made as the result of a previous carry-back

· Carry-back relief results in displacement of another relief or set-off relief

· Surplus ACT is carried back following the carry-back of a trading loss

· An amount of a carry-back is subsequently amended

· A loss carry-back reduces the rate of liability from the full CT rate to the small companies rate

· There is a loss carry-back and the Inspector has overwritten the computer calculated Marginal Small Companies Relief (MSCR) figure

· In the case of a loss carry-back, tax is chargeable other than at the small company's rate on profits that are below Lower Relevant Maximum Amount (LRMA) (for example a close investment holding company)

· There is more than one loss carried back and you need to alter the order in which the computer processes trading losses – see Note below
Note:
Where more than one loss is carried back the computer applies the following order of processing to ensure the correct tax effect is calculated

· Losses from an earlier AP have precedence over losses from a later AP

· Where both a trade loss and a non-trading deficit are carried back for the same AP, the trade loss has precedence

You can change the order in which the computer processes losses by using Function PAST (Prepare Full Assessment).






